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१ ko{6g ljsf;sf] nflu k|rf/ k|;f/ h=g=kf= 250000 gu/ :t/Lo

१ v]ns'b h=g=kf= 200000 gu/ :t/Lo

२ ljleGg dxf]T;j tyf pT;jx? h=g=kf= 300000 gu/ :t/Lo

३ P]ltxfl;s :yn ,efiff, wd{, ;+:s[tL k|a4{g h=g=kf= 200000 gu/ :t/Lo

४ Pr=cfO{=le= ;+qmldt JolQm k|a4{g h=g=kf= 90000 gu/ :t/Lo

५ ;fdflhs ;+3 :+:yf tyf ;d'bfosf] If]dtf ljsf; h=g=kf= 200000 gu/ :t/Lo

990000

k"kf{wf/ ljsf;

1 ;'df{b]jL dlGb/ ;/;kmfO{ sfo{qmd h=g=kf= 60000 gu/ :t/Lo

2 Knfli6s k|of]u /l;xt gu/ 3f]if0ff cleofg h=g=kf= 50000 gu/ :t/Lo

3 ljkb Joj:yfkg h=g=kf= 550000 gu/ :t/Lo

4 kmf]x/d}nf Joj:yfkg h=g=kf= 520000 gu/ :t/Lo

h=g=kf= 1180000

1 cWoog cjnf]sg e|df0f -kbflwsf/L tyf sd{rf/L_ h=g=kf= 1000000 gu/ :t/Lo

2 Ifdtf ljsf; sfo{qmd  -kbflwsf/L tyf sd{rf/L_ h=g=kf= 500000 gu/ :t/Lo

3 ;"rgf k|;f/0f tyf ljt/0f h=g=kf= 300000 gu/ :t/Lo

4 6]lnlehg sfo{qmd h=g=kf= 300000 gu/ :t/Lo

5 ljsf; kqsf/Ltf k|a4{g h=g=kf= 150000 gu/ :t/Lo

6

gful/s a8f kq / ;f]wk'5 sIf :yfkgf - !! j6}j8f 

sfof{no ;d]t_
h=g=kf=

375000
gu/ :t/Lo

7 jfO{kmfO{ OG6/g]6 h8fg tyf ;Grf/ h=g=kf= 100000 gu/ :t/Lo

8 aflif{ gu/ ljsf; of]hgf tof/L tyf k|sfzg h=g=kf= 400000 gu/ :t/Lo

9 ;ldIff tyf ;dGjofTds a}7sx? h=g=kf= 200000 gu/ :t/Lo

10 /]l8of] sfo{qmd h=g=kf= 200000 gu/ :t/Lo

11 ;+o'qm cg'udg tyf d'Nof+s, k|ltj]bg h=g=kf= 550000 gu/ :t/Lo

12 ;fj{hlgs ;'g'jfO{ h=g=kf= 90000 gu/ :t/Lo

13 hgtf ;+u d]o/ sfo{qmd h=g=kf= 500000 gu/ :t/Lo

14 ;fdflhs kl/If0f h=g=kf= 100000 gu/ :t/Lo

15 /fhZj k|;fzg ;'b[9Ls/0f h=g=kf= 500000 gu/ :t/Lo

16 gu/ kfZj{rLq lgdf{0f h=g=kf= 500000 gu/ :t/Lo

17 kl~hs/0f tyf ;fdflhs ;'/Iff ;'b[9Ls/0f h=g=kf= 100000 gu/ :t/Lo

18 k/fdz{ ;]jf h=g=kf= 1000000 gu/ :t/Lo

19 pkef]Qmf ;ldltsf] cled'lvs/0f h=g=kf= 200000 gu/ :t/Lo

20 df]6/;fO{sn vl/b -j8fsf] nflu_ h=g=kf= 3300000 gu/ :t/Lo

21 df]6/;fO{sn vl/b -sfof{nosf] nflu_ h=g=kf= 300000 gu/ :t/Lo

22 kmlg{r/ h=g=kf= 294000 gu/ :t/Lo

23 d]l;g/L cf}hf/ pks/0f h=g=kf= 300000 gu/ :t/Lo

hDdf 11259000

13679000

cfly{s ljsf;

ख) पजुिगत रकम रु. १३६७९०००।
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